(b  An investment of Rs. 10,000 (having scrap
value of Rs. 500) yields the following returns:

Years Yields

Rs.
1 4,000
2 4,000
4 3,000
4 3,000
] 2,000

The cost of capital 18 10%. s the investment
desirable? Discuss 1t according to net present
value method assuming the P.V, factors for
1, 20 3ed gth and 5 years-.909, 826, .761,
683, .621 respectively,
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PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer

1.  Management accounting helps the management in
(a) Preparation of final accounts
(b) Raising of funds
(c) Filing of returns

(d) Decision making
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Basic objective of management accounting is
(a) to ascertain profit or loss

(b) to settle disputes between workers

(c) toreportto management

(d) none of these

Horizontal analysis is done by

(a) Financial statement of a particular vear
(b) Half yearly statement

(c) Financial statement of several years

(d) None of these

External analysis is based on
{a) Published sources

(b) Unpublished sources.
{c) Government records

(d) None of the above

An ideal liquid ratio is
fa); 1:1 (b) 0.75:1
(€ 0.560:1 (d) 0.25:1

Page 2 Code No.: 20439 E

6.

e

Shareholders funds + Long-term loans = ——
{n)  current assots

(b current liabilities

(e} lixed assets

{d) capital employed

Cash flows includes

(a) Cash receipts only

by Cash payments only

{¢) Cash receipts and payments

{dy Cash and non-cash incomes

Premium on redemption of debenture is
{a) A cash inflow

(b} A cash outflow

{c)  Income

{dy Expenditure

Capital Budgeting is a part of

{n) Investment Decision

()  Working Capital Management
(¢) Marketing Management

(dy  Capital Structure
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1k

11.

A sound Capital Budgeting technique is hased on

fa}
{b)
(e)
(e)

Cash Flows
Accounting Profit
Interest Hate on Borrowings

Last Dividend Paid.

PART B — (5 = 6 = 25 marks)

Answer ALL questions choosing either (a) ar (h).

(a)

(b)

(b)

Answer should not exceed 250 words.

List down the advantages of management
accounting,

e
What arve the functions of management
accounting?
What are the limitations of linancial

statement analvsis?

Oy

The following are the income slatements of
Jeevan Ltd, for the year ending 31%
December 1999 and 1998, You are required
to prepare o comparative income statement
for the two vears.

Page 4 Code No.: 239 E

13

41.12.88 31.12.88

Rs. Rs.

Net sales 10,00,000  12,00,000
Cost of goods sold 5,560,000  6,05,000
Operating expenses :

Administration §0.000 1,000,000
Selling 60,000 850,000
Non-operating ¢xpenses @

Intorest 40,000 50,000
[ncome-tax 30,000 80,000

(a)

From the following details of a trader you
are reguired to caleulate stock turnover

ratio.

Rs.
Sales 39,984
Sales returns 350
Opening stock at cost 1,378
Closing stock at cost 1,814
Total Gross profit for the year 8,068
Or
Page 5 Code No.: 20439 E
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(b Ascertion closing debtors from the following
data
Total sales Rs.
Hs, 4,00,000,
Debtors collection period GO days (360 days
Ve,
Closing hlls receivable Rs. 10,000,

A40.00,000: Cash  sales

14. (a) From the following prepare a statement
showing changes in working eapital during

14984,

Balanee sheets of Sree Ganesh Ltd,, as on 314
Decembey
Lanbalitios BHE 1 szt 1448 104
= Bs Hs. Ra.
GO0 O 0 Frooed assces 100000 11,260,000
SO0 L EO 0 s

Share capital
Resorves
Prafiv nmid Joss

DPeprecin oo 370000 & 00,000

account RN 5,000 GA0 000 6,60,000
Debontures T000IG S R0HHE Stock S400n0 370,000
Credilors oy Bosile debats PR LTI L R

e 170000 160000 Coash in land
Provision for and.atbank 80000 {3 {10

ingome tnx RN BO000 - Prefimnney

a4 AT RN 15,0

PE20000 14,385,000 142000 13,345,000

Oy

) How cash  (low
statemeant”

dilfer from f{unds flow

Page 6 Code No, : 20439 E

—

{i1)

(h)

Analyse the different methods of evaluating

capital expenditure,
e

Caleulate pay back period for a project which
requires a cash outlay of Rs 10,000 and
generates eash inflows of Rs, 2,000 Rs, 4,000
Rs. 3,000 and Rs. 2,000 in the first, second,

third and fourth yvear respectively.

PART C — (5% 8 =40 marks)

Ansgwer ALL the questions chooging either (a) or (h).

16.

()

b

Answer should not exceed 600 words,

Distinguish between management

accounting and financial accounting.

O

Briefly explain the different tools used in

management accounting.

Code No. : 20439 E
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17. (a)  Sudeesh & Co Ltd, furnishes its balance ,
ahoot for the vears 1999 and 2000 and (hy  Following arve the ratios relating to the
requests vou o prepare a  comparative trading netivities of Neela Traders Ltd.,
balance sheet for those yvears. Madras. .
Lzabalittes 1968 20010 Aspets 1965 2000
Rs. Ra. Rs, Ra, Receivables turnover = 90 days (360 days
Equity shaee eapaial - 80,0000 80000 Land and ' vear)
B% debentures i, i OO000  Butldinpgs Bib, i Teb A0 :
Retained earmings 40000 49,000 Plant and | Inventory turnover = 3 times
Sundry creditors OO0 TO0D0 machipery  BO00B0 54000 P bl -3 }
Balls pavsenlalie LRI 15000 Furnituro RN 28,000 |I BYHLICH turnover = 3 months
Inventory {0000 GO0 I (iross !}”].fj'[_ ratio=25%
Dirhibngs 40000 B00N00 |‘
al . (] L]
Caklh 000 8000 f Gross profit for the year amounted to
SGO00 30000 SORELA00 304,000 " Rs, 18,000, Closing inventary of the year is
c Rs, 2,000 above the opening mventory. Bills
2 ! receivable amount to Rs. 2,500 and bills
(k) Explain the different types of financial payable Rs. 1,000,

statement analysis,
Ascertain the lollowing:

18, (a) Given:

Current ratio =28 (i) Sales
Acid-test ratio = 1.5 (i) Debtors
Working capital = Hs 162,000 ;
(i) Closing inventory and
Calculate; '
() Current assets r' (iv) Sundry creditors.
(i) Current habilities
() Liguid assets i 19, (a) From the following summarised balance-
(iv)  Stock. | sheets of Sy Krishna Ltd. prepare a i
Oy f schedule of changes in working capital and a
Liabilities  statement of  sources and
C B application of funds,
Ragsd Code o a0 198 Page9 Code No. : 20439 E
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Lantitlities [HRLR 1106 Arpots 11198 1900
b= EFS = s,

Share capital 400,000 5, 75,04 Plant Ta000 100,000
Croditors | RCLTERIH ] SO0 Sieck L2000 136000

Pealit and Dhebtors LA10000 170001
leass adl LLood 31000 Cosh LAZ000 250000
50,000 6, 76,000 A0 676 D00

O

(h)  Prepare a cash flow statement for the vear
ending 315 March 2000 from the Balance
glicets given below,

Linbelities  March 31 Mavch 3 Assets  Mayeh 31 Moreh 31
1898 2000 LAIENEN 20
its K& . Ite Its,

Ehape enpttal S0 000 050000 Fised nssets 8 Q0001 ERURATALY
General resorve 1,000,000 150000 Less @

Profit nnd dlepreciation . A0, 000

loss nic B CHA 15000 R Tk, DN

=ac clehentures 200000 200000 Investments 1.o0on0n 100000

Creditors 200,000 200000 Deblors 200000 3,00 0040

Progiosed Stoch 200000 La040d0

dividond RATHL (i, Cash A0 305 M
Mis. exp. Sk A0

| R RATHT m m m
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20. (a) The following particulars relating to a

project,

Cost of the project Rs.50,600

Annual Cash Inflows

1 Year
2 Year
3 Year
4 Year

5 Year

Year 1

Present value 0.909 0.826

at 10% :

Calculate ;

(i} Net present value

Rs.
5,000
20,000
30,000
30,000

10,000

4 5

0.761 0.683 0.621

(ii) Discounted pay back period. Y

Or
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